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Number of Customer 3 10 12 14

(NC)/Day
Prob. 035 | 030 | 0.25 | 0.10
1(2) dsandl 8 WS Jlaial) an ) 68l covs dde GV (e 220 (g 00 G ) IS

Lia g B1ikiall 462 ) asmd Laiali a5l 1(2) ady Jgia

Number of Loafs

(NL)/Customer 4 8 12 16
Prob. 040 | 0.30 | 0.20 | 0.10
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(3) i Jsanll (8 s LS s a5 JSI AL dae Alaa Jsaa )

a3 0S8 i3 s Laa Jaa (3) Jsia

NC/Day| Prob. CP Period of CP
8 0.35 0.35 0.000 - 0.350
10 0.30 0.65 0.351 - 0.650
12 0.25 0.90 0.651 - 0.900
14 0.10 1.00 0.901 - 1.000




(4) a8 Jsaadl (8 saulaSoa sy JST4se HY) 2ae Alas Jsaa

G50 JS B Y aae ddlaa J 9> (4) Joa

NL- Prob. CP Period of CP
Customer

4 0.40 0.40 0.000 - 0.400

8 0.30 0.70 0.401 - 0.700

12 0.20 0.90 0.701 - 0.900

16 0.10 1.00 0.901 - 1.000
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NC R.(NL) NL
1 0.748 12
2 0.166 4
3 0.807 12
4 0.692 8
5 0.332 4
6 0.866 12
7 0.954 16
8 0.605 8
T 76
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NC Ri(NL) NL
1 0.796 12
2 0.191 4
3 0.326 4
4 0.761 12
5 0.232 4
6 0.767 12
7 0.898 12
8 0.498 8
9 0.594 8

10 0.918 16
T, 92
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NC R,(NL) NL
1 0.500 8
2 0.377 4
3 0.498 8
4 0.560 8
5 0.742 12
6 0.067 4
7 0.954 16
8 0.048 4
9 0.134 4
10 0.146 4
11 0.314 4
12 0.657 8
13 0.146 4
14 0.688 8
T, 96
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NC R(NL) NL
1 0.102 4
2 0.353 4
3 0.739 12
4 0.279 8
5 0.496 8
6 0.471 8
7 0.215 4
8 0.785 12
9 0.923 16
10 0.011 4
11 0.531 8
12 0.812 12
T, 100
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